INB-F50580133b-JEC
EXiRERAAZ / INSTRUCTION MANUAL / $&{E{E Fi% BB B

400A~800ATL—L FmEH
Frames 400A to 800A Front Mounting type
400A-800A =28 KM

EtXA—rIL—h-ELREERZE
FUJI AUTO BREAKER » FUJI EARTH LEAKAGE CIRCUIT BREAKER
E LB - ELRBEEHES

| 22 LOTEE |
AT, B TH, BESLORT  SREFTOEIC, RGBS, [RRERFYa
P 3EERBFADLE, ELITHEALIZE 0,
FICRRSRPZ R EHRROEASEBOTICBL LD, CHREBVET,
[EREARTFY =2 P)V] (324, BFMICTHERIZS W,
@ LT REARSEODSVOZIES] ERIELTRBILTHSYET,

NEBL | B8LALE, REFRIEEABB NI BIBRERRETT.

AR | DELBLL BESCEPEEDEELBS NI BEBES
RRBLUMNBENRETEH NN BBHEETRT,

528, |NFEE | C2RSNFETE, RRUCL->TREABBRICHBO O

THEMNBYE T VTNLEBRNBEZHLTRYFTOTLTFoT<IE 0,

g
=9
@ B, WAL, BEARIFES LURST - SR, D EAEMERE > TIT T &L,
BEBSSLUVEMBICIDINEDOE TP HNET,
@ 2HFTDRFERICEIFICSH DI LB LEVTLZEL,
BELTOREEMZZISEIELEE A,

I

ti

oo
o

7

— —=lLtlg

i f%!Lﬂg

_3

I3-==
& pa Y=

@ FHEEEIC, 818, EHDHZ2HDIFFEHRALEWVTLAEI L,

@ Ut BEIESSURT - SREEPIMBER OBBRBENToT LS,

@ =8 %8 LAbL, BEMAR, BECEKE GR4ERELEBCEBELLVT
{F2a W KK, BEMELED S TP HYET,

@ EBMISERT LSS, EREBUBRLTH SN RLERA (ON) LTEE L,
KEDEZIDPHYET,

@ BT HTRELEDERSIRET T LIV, BEEDSZANHYET,

@ I3, T2 U— M SBLERMAEBERIICAS BV T LT AEL,
EMARPRERRS LUBBELEDESZAN B ET,

@ HAINTVALVAB COREEThEVTL AL,

@ LREEETHEAIE, EEEENELTRYESTILES L,

@ TILIBT, BHEOTL—HBFAOBEEERITHEVTILESL,

@ AEICRHBOEREE, ERERNVBENTHEALTLS L,
ERADERILERE, FEBHEOERE AW ET,
TEACEFAORTOL5H0E, BEVA GERLTESL,
ks, HEOERELWET,

@ BREENBIBTHMREEALTVETOT NIBICEBEI RELETERBEELE
OBENECET, BEELOMLVEFRTOIEAPREEBIT TCEIN,

7, BEEEAERALEROEES, B BEOBAILHB(ZCT) % IC L) B
LETOT, BFERORNERNEE10kHZLTT BDO3AUTCIEALEL,

| Safety Precautions|

Before installation, wiring, operation, maintenance and inspection of the

device, be sure to read the operating instructions carefully to ensure

proper operation. Care should be taken that the operating instructions will

be furnished to the maintenance supervisors of final users.

@ Safety precautions items are ranked into “ Warning ” and “ Caution ”.

AWARNING : Ind|_cates a potentlally_ hazardous S|t_uat|o_n,_ which, if not
avoided, could result in death or serious injury.

ACAUTION : Indl_cates a potentlal!y ha_zardous snuatlon_, YVhICh, if not
avoided, may result in minor or moderate injury and/or
damage to the equipment.

Under certain conditions, improper operation may result in serious injury

and/or damage even if it is labeled only as “Caution”. Every item indicated

by either “Warning” or “Caution” should be considered significant. Be sure
to give particular care to those items.

/\WARNING

@ Turn off the upstream circuit breaker prior to installation, removal,
wiring, maintenance or inspection to prevent electric shocks and
burns due to short-circuit.

@ Do not touch two live lines at the same time. Earth leakage circuit
breaker does not operate even if an electric shock occurs.

/\CAUTION

@ Do not use one found damaged or deformed when unpacked.

@ Installation, electric work, maintenance and inspection of the device
should be performed by qualified engineers having special knowledge.

@ Do not install the device in a place of environment with high
temperature, humidity, dust, corrosive gases, excessive vibration/shock,
etc. to prevent fire accidents and malfunction of the device.

@ When the circuit breaker trips of itself, remove the cause and turn the
handle on. Or else,it may lead to fire accident.

@ Make sure that terminals are fully tightened periodically to prevent
malfunction.

@ Care should be taken to prevent entry of foreign objects such as dust,
concrete chips, iron powder, etc. or it may result in poor contacts,
defective release unless it is permitted.

@ Do not modify the device unless it is permitted.

@ When the device is to be disposed of, it should be handled as an
industrial waste.

@ Do not connect aluminum terminals and conductors to the breaker
directly.

@ Use the breaker in a range of the rated voltage and current shown on
the name plate. Or, the breaker may malfunction.

@ Make connection on line side and load side in acorrect manner.

Or, fire accident may or malfunction may occur.

@ Earth leakage circuit breaker does not operate normally whendew is
generated. Do not use and storage the earth leakagecircuit breaker
in the place where the temperature changeis extreme. Moreover,
since ZCT of a breaker may be overheatedin the case of the circuit
containing harmonics, use the breakerunder the conditions for the
distortion of the leakage currentis 10kHz or less and three ampere or less.

| R&FEER |
TEHTLE, B E T, IRVER4EP, 3R, B BIRIZEMRIRAP, EREFER.
BN, IRIBER, BEAERIRBEPRLEBRIEHART A

@ TUIEAREHE, L TRIMOVERI DA
C[ES N DER] ATER.

RIS, AT BV BIR

ANEE :Kgﬁ%ﬁ’ﬁ%, BYBESMPHFRENE. BIHMURREMIR
= {hE.

HBIN, PATICENBI, KIBEERKIER, DAGEESETED
Revaragto
BT —TMABER+DERE, BIDLTBETIT.

=2
Bl

O ELE, I, A T R4, W Dkieg. T,
S RE IS AR -
@ ESWUAERINMEMATTEE. TN, BMEM L, Brigkss A zE.

==
AI_:E,E

@ FFFER, BRIATRET AMBMER. W8, 52E M.

@ L, BRIERAEN, 4B, SMIEAE IR REHT.

@ EAERLRELELERR, I8, LR, BHMESE, I EReF+H
TEFBNET. T, BRENTNRNIEOR M.

@ HEN, FEEFREAEBHRANFMON, TN, EAIESBNR.

@ EEHE R TFHIEEIRT, BT IEIREE,

@ FEEBNEMRL, KR, KN ERD AN RN, TUHRRESIE
FERR R, BB FIRE0{E.

@ ERAERFIFA, EREXNY R THS.

@ EFULF R, B R AR

@ FAEEEEMEART, SEESRR .

@ FEARETICEMBE B IE, BE BACEEA TR BN, BrrsE
Sl HBEFA W ZBIEE,

@ NFERAI AR RIRMFIA TGN, B EFEL. BNARIRERENR
At

@ HTiREITERERT BT, MRARRELENE, BAIERE
BRI, FEFFERETURIZINZEARRE. 350,
NFEEBRIERMAIH B, MERNTEDRSE (C1) EHRE
T, B IS E BiRERAET 10kHz LRI B 3ALL T RIS i85




1. B2

KITU—N%BBLICS 8E P ICRIBLICERDEOD
EDNRRRRNET . BB BRER 1 ICTHESRROET,

1. ik
THAWBENDRS, BREBLECREPRIGNLTS.
Fl— B P MR HHAIRIBR | i

1. Check

Upon unpacking the breaker,verify no damage in transport.
Please also confirm that the specifications of the parts
match those in Table 1.

#®1 MIEE  Table 1 Parts in a package X WO
g[/—kﬁ‘?ﬂ?ﬁ WA  Parts in the packing 1RSI
reaker type — - A "
e e} H3@ESHE  Common part  BAAEME T FEEEHS Only for flat terminal FRIFIFEREME | 7Oy 7 FERRBM Only for Lug terminal B3RS SR
Al M6x100 47 NARIE M12x35 67
Mounting screw M6x100 4pcs. Hexagon head bolt M12x35 6pcs.
oo NAER M12x35 6%
Eee ) M6x100 4%
Fub M12 o6&
Fub M6 4@ Nut M12 6pcs.
Nut M6  4pcs. B8 M12 61
BW400EAGU
BW400SAGU 125 M6 41 FES M12 12#%
Plain washer M12 12pcs.
BWAOORAGU | s M6 4t P Mi2 12
BW400HAGU Plain washer M6  4pcs. $hEES M12 64 -
EW400SAGU SERE M6 41 Spring washer M12 6pcs.
EW400RAGU . BT M12 68
&y M6 4
EW400HAGU Sprirriﬁwasher Mg 4[*)%3 »*BW400EAGU-2P,BW400SAGU-2P,BW400RAGU-2P,
o M6 4% ' BW400HAGU-2PIdZNZ h4fB D TERC 28,
WILLE Note. Use 4pcs, of screws for BWAOOEAGU-2P,
YT B-43A 44 BW400SAGU-2P, BW40ORAGU-2P,
Interphase barrier B-43A 4pcs BWAQOHAGU-2P.
N ' B EFR41°BWA00EAGU-2P, BWA00SAGU-2P,
BIEIREIR B-43A 441 BWAOORAGU-2P, BWAOOHAGU-2Po
5N RARIE M12x40 1274
BW630RAGU Same as the above iexagon head bolt M12x40 12pcs.
— NREE M12x40 12%%
BW630HAGU | AL s Mi2 127
EW630RAGU Nut M12 12pcs.
25 M12 129 _
FES M12 24#
Plain washer M12 24pcs.
BWS80OORAGU SFRE M12 248
BW800OHAGU I$hES M12 12#%
Spring washer M12 12pcs.
FIERE M12 12
2. BMftiF 2. Mounting 2. &

TU—HOBNF R, Bl TOSBNFRALZEA
LTHIR>T<IZE b,

3. &R
3.1 BREBOIIR

) BHER - BEDBLOTLU—AICEEHLEIMNSNT
WO EACHRIZSWO,

(2) BIRO#E#EIE, NEC(National Electric Code:
KEELTHRTE)E/-[FCEC(Canadian
Electrical Code Part 1: h+ABRITERE)IC
REOTHEKLTIZSTO,

(3) BHEBIRIF, 75CHHIRA CEALICS O, 88, UL
REBBREICFCSARESEBRA BAIISL,

@) BFER, FERIPERE, SMAWTEEDL
SICEFTLIZSh. (81D

B) BENUPHRBLTHYEIDT, R, &2af
BEICEL FTIZSO,

(6) BEBRNANETE, BIREICHERICKSHEHN
NRELFIDT SROZFZREICLTIIZS0,

(7) IHFALCEEHENITBLHED LTS O,

(8) P—O0ARFLEOEIZSHBOTLIZS O,

3.2 JOvOiRF 0IBE

D WF\DEHRERIS, KIICRITERITEB R T AX
DEFeHER<IES O,

(2) BROKLVBIIR2ITHDTIZE L B, ZIBIRD
ERETEET A

3) 70V oimFICE, 1 XDRS12BBDERE
—RICERTEE T A

@) BRI, FBEDLBWTLIZE L,

(5) ERE, RIITRTHN RO TRONF TS,

Fix the breaker using mounting screws. WSS, 1BIEM—RRBNZRE .

3. EE

3.1 ERIEEESEM

(1) IERABEIBENEEEDL, SBIHEURMTEEES o

(2) EBLLIBIZIBNEC (National Electric Code : ZEEBST
F2HE) 8B CEC (Canadian Electrical Code Part 1:
NERBSTENE) EiEo

(3) EIZBLIBEATHCHZ%. LI, BEMBULIAE BT

3. Connecting

3.1 Precaution for connecting

(1) Confirm that no voltage is applied to the breaker, wire
and Bus.

(2) When connecting the wires, follow the instruction of
NEC(National Electric Code, USA)or CEC(Canadian
Electrical Code Part 1, Canada).

(8) For connecting, use the copper wire for 75°C.

Use the UL or CSA approved wires. BCSMATEBLo
(4) Each connecting wire or crimp terminal, conductor (4) 1B EESRL, EEiRSHSBIHIHITFITELE.
pole should be connected in pallarel as shown in the (=)

Fig.1.

(5) Fit the attached interphase barriers between phases
on the line and the load side.

(6) Keep the connection of the wire tight sufficiently,
because the very large electromagnetic force will be
generated, when the short circuit current is applied.

(7) Perform the additional tightening of the terminal
screws periodicaly.

(8) Keep open the outlet of the arc gas.

(6) EAAMItH SBERER, ERER, RElii8EZE.

(6) BIBIZLIMIBITOY, EBLBZREFEANDBHN,
HEREBLIIZIF .

(7) BERITRIR & -

(8) BABILIRIMN AL O3B,

3.2 Lug terminal 3.2 BRIRSB
(1) Use the connecting wire of the sizes listed in the Table 3. (1) B 5 80 B LR B ADRIPT A SR T BB Lo
(2) Follow the number of the strands of the wire indicated ~ (2) BANREIBIZIBR2. 1HIh, FATLUERED L.
in the Table 2. In addition, the multiconductor wire can  (3) }81Ri%ES AR o] M —RiEER T AE02f0 8 4o
not be connected. (4) BLBETBAISHEE-
(5)

(3) To the Lug terminal two wires with which sizes differed . — |
cannot be connected at the same time. %) BERWRIMTAREMIEIT R,

(4) Do not solder the end of the wire.
(5) Fasten the wire with the tightening torque indicated in

the Table 3.
mRr
;gt»%ggigse barrier x2 E#ROLVIE  Table 2 Number of strands connecting wires &2  EB4&E44%
=]
% EiR1X  Wire size EBEHERY SUEOH Number of stands  BAGKS
- ® R AWG or MCM (mm?)
[er[e]e) OO0 AcCCessory Cover screw 142AWG (2.1-33.6mm?) -
==
> | 1-4/0AWG (42.4-107.2mm?) o
- - 2
X1 Figl &1 (400-800AF) 250-500MCM (127-250mm?) 37




3.3 RLmFDIRE

1) MIF\NDEHRBIRISE, RIICRIBIRTAIDEDH
CTEARLIEE L,

Q) ERIEBEFERCZFLADT, RIICRIESHY
HTHERLIEE0,

) wmFRLE, RIISRIT B MO TROAMT TS
=W

3.4 LEHRF DIHE

D) PEHF\OERERE, KIICRIBRYAAD
HOETHA<IZEL,

Q) BRIFEHE R CSETLADT KIRIEEHKF
T CHA<IZEL,

Q) TRV F, RITRI A RIS THREDA T TL
2=,

&) EBHF22BEEH T ICER T BBE(E, RN E
EDRBEHEDNRRIBDENBYETIOT, T—E
VORETHRBRIELTIIZS L,

=3 BIRYAZERFILY
Table 3 Connectable wire size and tightening torque
R EEBLEHRIFEEAIE

3.3 Screw terminal

(1) Use the connecting wire of the sizes listed in the Table 3.

(2) Because wire cannot be connected directly to the
terminals, select crimp terminal shown in the Table 3.

(3) Fasten the connecting bolt with the tightening torque
indicated in the Table 3.

3.4 Flat terminal

(1) Use the connecting wire of the sizes listed in the Table 3.

(2) Because wire cannot be connected directly to the
terminals, select crimp terminal shown in the Table 3.

(3) Fasten the connecting bolt with the tightening torque
indicated in the Table 3.

(4) The case two crimp terminals are to be connected,
reinforce the insulating distance to the mounting
surface may be shorten, it needs to make insulate by
taping, etc.

3.3 1B24Tim=6T

(1) EEiRSB LB A UNRFTTHNBLR T o

(2) BEANREEEER, 1BEBURPMIOEEIRS
(3) IS4 BB AR IFT TN EERIEIT o

3.4 FEURSES

1) EEFRIRSNRL, BEAURFITRINBL.

2) BEAREEREERE, RILAEERUNRFITNEERS -

3) E IR B A 0RO E B EIT S

4) BEER S EEE2 D FRIGS L6, RABERIZE
BNAZEESARY, SRRMERILBS.

BEEBERFEERBELE  Applicable crimp terminals and tools EEMEZIHFFIEETR "2 |#HHL7 Tightening torque ‘EEHAE
TL—HOW | EIRER| ERERTIX : - - N
Aroner ty;;; sl Riviiont JST (UL File No.E42024) NICHIFU (UL File No.E44245) |DST(UL File NO.E74917) | 7. oz | S0y 7
b 087 92 () S T Current | - e e EEi EEIE E&iE EEIE i EETE Screw/flat ;
e ment | EgasRY AT & BT & BRT | EE oot | Lug terminal
EERR * Terminal Tool Terminal Tool Terminal Tool . " -
EEHT E#TR EEHS EETE | 2R3 | EEIR |BORT- PRI BRmT
BW40OEAGU | 250A %ﬁgmg ) 150-12 R150-12
Smggiﬁgﬂ 300A | 3%QMCM 180-12 R180-12 375 Ib.-in.
BW400HAGU (177mm? ) YF-1 NOH-300K - 875 Ib-in. | (43.5N-m)
350A | 500 MCM R325-12S, i (43.5N-m)
EW400SAGU ( 253mm?) 32512 R325-12N
EWA400RAGU -
3/0 AWGX2 275 o.n,
EW400HAGU | 400A | o OV, ) | Re0-12 R80-12 rhfi
500A 250 MC';"XQ R150-12 R150-12 .
BW630RAGU (127mm® X2 ) | 275 1b-in.
BW630HAGU | 600A ﬁ%ﬁ"ﬂg’;"ﬁg ) | 18012 YF-1 R180-12 | NOH-300K - ?437?1'21':?5 (81.1N-m)
EWE30RAGU 630A | 500 MCMx2 30512 R325-12S B
(253mm2x2 ) R325-12N
500 MCMX2 R325-12S 415 Io-in,
BWSOORAGU | 700A | (253mm2x2) | 32512 YF-1 R325.12N | NOH-300K - (47AN'm) | 275 Ib-in.
BWBOOHAGU [ gooa | 300 MCMX3 _ B B (31.1N'm)
(152mm? X3 )
AR Y1 ERERIE75CEREER Notes : *1 167°F (75°C) Copper wire SR *1 EEBAFATSCBE

2 EERFEESH  JST=AREER FREKASHT

NICHIFU=#RX &4 =F7
DST=XFEiHFEEH#A Rt

*2 Crimp terminal manufacturer :
JST= Japan Solderless Terminal MFG Co.,Ltd.
NICHIFU=Nichifu Terminal Co.,Ltd.
DST=Daido Solderless Terminal MFG Co.,Ltd.

3 ImTFHN-ZERT2HEE, R325-12NEFERL TV,

*3 Use R325-12N for terminal cover.

2 ERIRFHEAT  ST-BFERRIRIERN S
NICHIFU=NICHIFUbRTN &1t
DST=A @i 3 HliEHRN S

*3 ERImS S0, BEA R32B-12N

R4 WFETAECERES
Table 4 Dimensions of terminal and copper bus
x4 HFHORIILEZESE
IL—1s Fat E.E RLEBEHB
Frame Type D|men§Lon§lof terminals Details of connection part
2R i REESEAN BHSNHEND
BENY P
Interphase barrier
1BIEIRIR () | 44 | B2IR
0 I Fl inal
BW400EAGU g \ etviie
BW400SAGU Mi2x 35 g ‘ .
BW400RAGU S, Y >y b (REHD
400A BW400HAGU Nut(Top side)
LGNV 26 (FEM)
EW400SAGU Mounting hole
EW400RAGU el
EW400HAGU 2 fENTES (S, 3 AREMTES D P RIBE A FRVITFRICBY £ T
2-pole breaker are supplied in 3-pole frames with current carrying parts omitted
from the center pole.
2 IRUTERES A 3 MRUTES PR cp IRk SHREIF MR
630AF:38.5
BW630RAGU o v BERE
} ) Connection
630A | BW630HAGU " BN (—-B00ARIO i
EW630RAGU Interphase barrier .
2 : 1BENEIR (125D IR Rk (CEEB)
I I H Flat terminal Bolt(Bottom side)
38l H I ~ IR IR 2 (B|EN)
E— l 1 © [rs)
© H H M12 x40 o
| | 4 s
Lo Ol
SOOA | BWB0ORAGU . -
BWB800HAGU 70 Mounting hole
210 ‘ 53l
|

*X0.0394=inch



BRA
Line side
BIRM
1 3

BEERBRERT
Overcurrent tripping device

IR RIP T
XATRABRAVF

Dielectric test switch
i (1]

ZFT . !fJIT%FT

2 4 WBSISHLEE
I=teic]
Load side iRl
el

4. ¥ DMDFTEIR

@ RBEWSICHVTIEEDRBEINAED LOMWEE
RIS, AEDXATRAMDERA Y F 2B L O LISRRE
THIOIEDTEET, ARBREBANTANMIBRAVF
ERLTLIZE W,

O XHTRAMIBRAVF DRI, FUvITREV %8/l
TU—hA&MzE Ry TREICL T 2 TS,

@ EIHEBOTP—RIFF(E, BT ELTIZS0,

@ FREEWESIE, BICTORETRNREYZHLT, BfF
ERETOTIEE W,

@ FOVY—N—FDERKERATIHEE, FED5
TmIEBN TER<IES D,

@ NEAN—RLE NERDBREFOHBELTIIZS
(AN

@ NEREMNITS5EIE. NERORESAHE =8
2o

Earth leakagetripping device

4. OTHER CAUTIONS

@ Measurement of insulation resistance between phases
and the dielectric strength test can be performed by
pressing and turning the Dielectric test switch. Return
the Dielectric test switch after the test is completed.

@ Before operating the Dielectric test switch, press the
trip button to trip the breaker.

@ Ground the ground terminals of electrical devices.

@ Press the test button of Earth leakage circuit breaker
at least once a month to perform an operation check.

@ Do not use transceivers from earth leakage circuit
breaker within one meter. Otherwise, the breaker may
malfunction.

@ Detach the accessory cover screw only when you
install accessories.

@ Refer to accessory instruction manual for their installation.

Retu™

i)
pushyect| @)

STt | res)
 leon el

MEESER
Dielectric tests
BEEMIE LR

54 o

et

2y
(Pt @

Y Test Tost)

g @l
Ret!

(pushect @)
e 7Y

g Tt
posito”

nt',“,’\"
P! @)

-~ st st/
@ .-”vs:;an er ™

4. HEEEEM

© TERAAIMESHZHIZ REVRS T, el AN BB kT EEES
S8 [8) 4245 SR BRI E Kot & i 5o
RILRG, BRMEMZHE R

© BIZ NRIDIZE, BTRSSSAMAE TR, B TmE
SWIZERBYIRAE o

® BN SHIEMIHFTBERDE".

@ I TIRBUTEESE, BIRE B — ROVREIZ N LI IRIA
hiEo

® EEBLLBRENENDTLBIRSH, BEBTAN
SRKIUIMEA

@ X TIRE T BT e B R EINIPHIM BINEIRET, 1E{R
TR ENOIFHITIRFo

® ZEMIEGRE, ESRMERTREMIHAR.

ErEHESRHIEK ST

T103-0011 REMPRXANEAIEEHSETS
(EHERSBITATHETE L)

TEL (03)5847 - 8060

FAX (03)5847 - 8182

URL http://www.fujielectric.co.jp/fcs/

Fuji Electric FA Components &
Systems Co.,, Ltd.

Mitsui Sumitomo Bank Ningyo-cho Bldg., 5-7, Nihonbashi
Odemma-cho, Chuo-ku, Tokyo 103-0011, Japan

Phone : +81-3-5847-8060

Fax :+81-3-5847-8182

URL http://www.fujielectric.co.jp/fcs/eng/

Contact information in each countries

(The company name and address):
http://www.fujielectric.co.jp/fcs/eng/sales/index_s.html

ETEBRBERIEKNSHT

AARERRHPRXARFRIEGET S HFT S
ZHAERIRIT ATAT Bldg.

#i% 103-0011

BiEF +81- 3- 5847- 8060

f£H  +81- 3- 5847- 8182

URL http://www.fujielectric.co.jp/fcs/

F50580133b



	INB-F50580133b-JEC_A4_P1.pdf
	INB-F50580133b-JEC_A4_P2
	INB-F50580133b-JEC_A4_P3
	INB-F50580133b-JEC_A4_P4



